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Answer all the questwns
Each question carries 1 we;ghtage

1 What are 1ndepe,ndent events ? State an example

g

o ¢

10.

What is expected value ?

For a pair of variables X and Y, it was computed that bXY =0, 85 ‘and be. 0.89. Estabhsh the

: relatlonshlp between the variables X and Y.

Compare posﬂ;lv_e and negative correlation.

" State two reasons for non-sampling errors.

Explain data view and variable view in SPSS. o _ .
' - (6 x 1 =6 weightage)
Part B '

Answer any four questions.
Each questwn carries 3 wetghtage

A Merchant’s file of 20 accounts contains 6 delmquent and 14 non-delmquent account‘-‘. An audltor

randomly selects 5 of these accounts for exammatlon Wha‘t is the probability that the audxtor :

finds exactly 2 dehnquent accounts 7
Explam Simple, Partial and Multlple correlatmns

What is the probablhty that a randomly chosen card from a deck of cards will be cither a kmg or

a heari; ?

Explain the commands for conducting a one sample ¢-test in SPSS.

" Turn over
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13.

14
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_Explam convenience samplmg, purposwe samphng and Judgement samphng

Explam ANOVA o o
o | o | (4x3=12 weigh;age)

. | ' Answer any three questions.
Each questton carries 4 weaghtage

D

The followmg isa SPSS output of dally retm'ns of stock market in perlod 1 and penod 2. Interpret
the values : '

Dgsériptiﬁe Stdtistiés
.Pe.zrio.d.'l - | Perliod..z_ .
Mammum ' '7.931- . 15-.996 |
Mean . . 00681 0.0_211-_
Medisn | o..1.-40,;2 - ._ 0.0‘55_5- '
s Standard deviation e '1.'.6.153 ;‘. '1..3'92:8
_.”Skewness L oo ) R 10.195
Kurtosis - B 3367 11.9’9'_4
N | 2498 2722
The folluwmg data presents the Pxports of Cotton and the 1mport of ﬁanufactured goods 1ﬁto India "
for?years S _ . ' o o o
.Export_s".(iri crores oflf,é:) B 42 44 58 55 . 89 - 98 -'60" o
Imports (in crores of Rs.) ~ : ‘f 56- : 49 '53_]' - 58 67 - 76 58

" Obtain the two regression equations and estimate the imports when-éxl.)'orts ina p‘artit:ﬁla.r year |
‘were to the value of Rs. 70 crores. :



17.

3
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.- 15." A sample of 100 dry battery cells tested to find the length of hfe produced the followmg results :

X=12 hours, o =3 hours. Assurmng that the data are normally dlstnbuted what percentage

of battery cells are expected to have life :
(@) More than 15 hours. . . °
(b) Less than 6 hours |

(c) Between 10 and 14 hours

' 16." Three machmes are used in the packagmg of 10 kg of wheat flour. Each machme is de31gned soas”

-~ to packon an average 10 kg.r of flour per bag, Samples of six bags we_re selected from each machine

and the amount of wheat packaged in each bag is shown below : o

Machine1 : - 158 159 162 157 163
‘Machine2 - : 165 16 154 159 = 162
Machine3 : 157 164 162 159 157

158

161
-16. 3

Usea 5 percent level of blgmﬁcance to test the hypothes:.s that tho amount of wheat packaged by"‘

the three machmes is the same.

. of significance.

The followmg table g;.ves the number of good and defectlve parts produced by eaeh of the three '
shifts mafactory o 7 ”
Shift o Good Defective E VTotol o
 Day .. 800 130 1,080 .
Bvening .. 700 - 170 80
 Night .. 40(_5_ 7 S eoof'-”
Total | '..'.'_2,00'0 O "509” 2,500
.Ie there.a'n'y 'a:sso'ciation_ Eetween .t:h,e' sh.iﬂ: and the equality of Ithe'.];)'arts:prod‘uced ? Use a'0.0.5‘ lerel o

(8 x 4=12 weightage)

" Tuarn over
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_ Part D -
-l lAﬁ‘swer the éoﬁpuiéb'ry 'quéstions. -
' 6 weightage. N | |
18. foe fdllo_wing table give the performénce of three debergenfs and thi-ée di_ffé_reni; water térhperatures

uéing the ‘whiteness’ readings obtained with spet:ialiy designed equipment :

Water températ.uré | ) De_terg ent Detérgeﬁ}:l Detergent o
A B e.
Coldwater .. 57 85 61 -
Wo-i'mwafef.? 49 L | 52 . - . 68
ﬂdtwater- - 54 - -'4.«_6. S 58

Perform a two-way analysis of variance, using a 5 percent level of significance,

{6 weightage)
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